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Supplemental Problems for Section 1.2
Example 1: Let 
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. Determine each of the following:
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As h  approaches 0, what does 
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Example 2: Find the domain of  
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Example 3: Write the equation of the piecewise function given by the following graph.
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Graphs of Basic Functions
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Greatest Integer Function

Fact: The notation 
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Example 4: Use the graph of 
[image: image35.wmf]2

)

(

x

x

f

=

 to compare and sketch the graphs of 
[image: image36.wmf]3

)

(

2

+

=

x

x

f

, 
[image: image37.wmf]4

)

(

2

-

=

x

x

f

, 
[image: image38.wmf]2

2

)

(

x

x

f

=

, 
[image: image39.wmf]2

)

(

x

x

f

-

=

.
Solution:
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Vertical Shift and Stretch Summary
Given 
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Example 4: Use the graph of 
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Horizontal Shift and Stretch Summary
Given 
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Fact: Given a function 
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A function is even if 
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A function is odd if 
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Example 6: Determine if the following functions are even or odd.

a. 
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